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NANYANG PRIMARY SCHOOL
Term 2 weighted Assessment
Science 15
Primary 4
Name:, L) Date:
'CIE#S,:_LQ S Parent's signature: -

- Dear Parent/Guardian,

Please slgn the Welighted Assessment paper and have your child/ward return it

the nextday. Any query should be raised at the same time when returning the
paper.

Section AMultiple Choice Questions {10 marks)

For each question from 1 to 5, four options {1, 2, 3 and 4) are given. One of thém is the
correct answer. Indicate your choice in the brackets provided.

1. Which statement about light is incorrect?

(i Lightis a form of energy.

{t) Lighttravels in a straightline.

(% A shadow is formed because light is reflected.

(4 A table can be seen because it reflects lijht into our eyes.




2.

A metal pole and a torch were placed On a table s shown in the diagram
below. _ metal pole

Which of the following diagrams correctly shows the shadow of the pole on

the table top?

(N (2)

(3)

(4)
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Mary sst up an experiment using a light sensor to measure the amount of
light pasging through different materials. The set-up shown below is placed in
adark room.

light
Sensor  datalogger

AhIEL

B light material

she measured. the amount of light passing through materials P, Q and R. The
iéble below shows the recorded results on the datalogger.

Amount of light
Material detected
_(units)
P 100
Q 40
R 0

Which of the following best represents materiais P, Q and R?

Material P Material Q Maferial R
(1)]. clearplastic cardboard paper
(2)|  cardboard paper clear plastic
(8) | _clearplastic Paper |  cardboard
(4) paper cardboard | clear plastic
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4.

Which of the following Statements about the plant perts is Comrect?

K

{2)

@

(4)

Stem Leaf Roots J
| Holds the plant Taket in and give out | Hold the piant firmly \
upright gases to the ground
Holds the plant firmly | Makes food for the | Hold the plant upright 1
1o the ground plant . to reach for light
*Holds the plant Apsorbs mineral 1 Take in and give out
| upnght salis and water gases
Takes in and give out | Makes food for the Hold the plant firmly
' gases plant to the ground

Jane grew a plant shown in the diagram below. She placed itina box with a
small opening. A few days after the plant has been placed in the box, it was
observed to lean towards the opening of the box.

vAg
X%

Based on the diagram, which of the following siatements is comect?

)
(2)
(3)
@

The plant bends to absorb more water.
The plant bends as it has a weak stem.
The plant bends due to a lack of space.
The plant bends to grow towards the light.
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Section B: Open.Ended Questions (5 marks

For questions 6 ang 7, filin your answers In the spaces provided.

6. The set-Up below Is USed to investigate how distance between the light source
and object X will affect the height of the shadow cast. f"“

Object X

-
- e kit

-
-
-
o

Distance

light source screen

The distance between object X and the light source was changed a few times
and the height of the shadow was measured

and recorded in the table shown
below.
[ Distance between object X | Height of shadow
and the light scurce {cm)
{cm)}
5 25
13 17
20 10
25 z
{a)  Based on the results above, state a passible value for z, [1]
cm
(b)  Based onthe aim of the experiment, state the changed variable. [1]
(c)

Based on the results, what is the relationship between the distance
between object X and the light source and the height of the shadow? [l

—_——




7.

Benjamin sst up an experiment using the following settPS, X, Y and Z as shown
in the diagram below.

Plant

i beaker.\

oil —__

He used the same type of plant in each set-up and gave _the same amount of
water at the start of the experiment. After two days, he realised that the amount

of water in each setup was different.

in which set-up will there be the most amount of water left in the beaker?

(a) .

{b) Explain your answer in (a). i1

JEnd of Paper -
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Section B8
Qn No Acteptable Answers
Ba. 1cmie 10cm
6b. Distance between object X and the fight source
6C. The futher the distance between ohject X and the light source, the shorter the height
of the shadow. _
7a. z

7hb.

Z hadte least amount of roots which will absorb the least amount of water,
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